Converting Between mm, cm, m, and km (A)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

10.

Base
g g < £ 3l igz s :
b E Z 2 3 18 8 E E =
: : — : : > X
G M k h da: :d ¢ m M n
9 8 7 6 5 4 3 2 15 -1 -2 3 4 5 6 -7 -8 -9

. Convert 728.000.000 mm to km

Convert 375cm to mm

Convert 0,00091 m to mm

Convert 0,099 km to m

Convert 222.000.000 mm to km

Convert 281 m to cm

Convert 58.090.000 mm to m

Convert 131.400 mm to cm

Convert 2070 cm to m

Convert 0,0000113 km to cm
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Converting Between mm, cm, m, and km (A) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

B_a_s_e
2] Q : E — o e
s iy S 5 81 13 £ 2 3 z
"Bh S % = <! 1w 3 8 £ =
-— <4 : i : : —» X
G M k h da, *d ¢ m 2 n
9 8 7 6 5 4 3 2 1 E -1 -2 3 4 -5 -6 -7 -8 -9
1. Convert 728.000.000 mm to km

10.

728.000.000 mm + 10 =10+ 10+ 10 - 10 = 10 = 728 km
Convert 375 cm to mm

375cm X 10 = 3750 mm

Convert 0,00091 m to mm

0,00091 m X 10 x 10 X 10 = 0,91 mm

Convert 0,099 km to m

0,099 km X 10 X 10 X 10 = 99 m

Convert 222.000.000 mm to km

222.000.000mm = 10+10+10+10+10+10 = 222km
Convert 281 m to cm

281 m X 10 X 10 = 28.100 cm

. Convert 58.090.000 mm to m

58.090.000 mm = 10 =10 + 10 = 58.090 m
Convert 131.400 mm to cm

131.400 mm =+ 10 = 13.140cm

Convert 2070cm to m

2070cm - 10 - 10 = 20,7 m

Convert 0,0000113 km to cm

0,0000113km X 10 X 10 X 10 X 10 X 10 = 1,13 cm
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Converting Between mm, cm, m, and km (B)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

10.

Base
g g < £ 3l igz s :
b E Z 2 3 18 8 E E =
: : — : : > X
G M k h da: :d ¢ m M n
9 8 7 6 5 4 3 2 15 -1 -2 3 4 5 6 -7 -8 -9

. Convert 8.710.000 m to km

Convert 0,19 cm to mm

Convert 372.300.000 mm to km

Convert 61.000cm to m

Convert 80,1 cm to mm

Convert 38.860.000.000 cm to km

Convert 94.900.000 mm to km

Convert 9,6 m to mm

Convert 1,181 m to cm

Convert 0,216 m to mm
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Converting Between mm, cm, m, and km (B) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

B_a_s_e
2] Q : E — o e
5 b s 5 81 ig £ Z 3 z
"Bh S % = <! 1w 3 8 £ =
-— < : i : : —» X
G M k h da, *d ¢ m 3 n
9 8 7 6 5 4 3 2 1 E -1 2 3 4 -5 6 -7 -8 -9
1. Convert 8.710.000 m to km

10.

8.710.000m =+ 10 + 10 = 10 = 8710 km

Convert 0,19 cm to mm

0,19c¢cm X 10 = 1,9 mm

Convert 372.300.000 mm to km

372.300.000mm - 10 +10+10+10+10 =10 = 372,3km
Convert 61.000 cm to m

61.000cm +-10+10=610m

Convert 80,1 cm to mm

80,1cm X 10 = 801 mm

. Convert 38.860.000.000 cm to km

38.860.000.000cm + 10 =+ 10 = 10 + 10 + 10 = 388.600 km

. Convert 94.900.000 mm to km

94.900.000mm - 10+-10+10+10 =10+ 10 = 949km
Convert 9,6 m to mm

9,6 m X 10 X 10 X 10 = 9600 mm

Convert 1,181 m to cm

1,181m X 10 x 10 = 118,1 cm

Convert 0,216 m to mm
0,216 mx 10 x 10 x 10 = 216 mm

Math-Drills.com




Converting Between mm, cm, m, and km (C)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

10.

Base
. — o
5 & °c 5 g ig §E 3 z
"Bh S % & <' s 8 E £ =
: : — : : > X
G M k h da; ;d ¢ m M n
9 8 7 6 5 4 3 2 15 -1 -2 3 4 -5 -6 -7 -8 -9

. Convert 8588 cm to mm

Convert 467.000.000 mm to km

Convert 40.500 mm to cm

Convert 0,0000087 km to cm

Convert 0,03779 m to mm

Convert 0,14 km tom

Convert 270cm to m

Convert 80.700 cm to m

Convert 0,0000301 km to mm

Convert 207.900 mm to m
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Converting Between mm, cm, m, and km (C) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

B_a_s_e
2] Q : E — o e
5 oy S 5 81 13 £ 2 5 z
"Bh S % = <! 1w 3 8 £ =
-— <4 : i : : —» X
G M k h da, *d ¢ m 3 n
9 8 7 6 5 4 3 2 1 E -1 2 -3 4 -5 -6 -7 -8 -9
1. Convert 8588 cm to mm

10.

8588 cm X 10 = 85.880 mm

Convert 467.000.000 mm to km
467.000.000mm - 10+-10+10+10+10+10 = 467 km
Convert 40.500 mm to cm

40.500 mm + 10 = 4050 cm

Convert 0,0000087 km to cm

0,0000087km X 10 X 10 X 10 X 10 X 10 = 0,87 cm
Convert 0,03779 m to mm

0,03779m X 10 X 10 X 10 = 37,79 mm

Convert 0,14 km to m

0,14km X 10 X 10 X 10 = 140 m

. Convert 270cm to m

270cm +-10+10=2,7m

Convert 80.700cm to m

80.700cm =+ 10 + 10 = 807 m

Convert 0,0000301 km to mm

0,0000301 km X 10 X 10 X 10 X 10 X 10 X 10 = 30,1 mm

Convert 207.900 mm to m
207900 mm - 10+-10+=10 = 207,9m
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Converting Between mm, cm, m, and km (D)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

+ < = o = > X
G M k h dai 'd ¢ m 2 n
9876543215_?":-1-2-345-6789

1. Convert 1.416.000 m to km

2. Convert 6190 cm to m

3. Convert 163 cm to mm

4. Convert 0,312 m to mm

5. Convert 877.000 cm to km

6. Convert 2,6 m to cm

7. Convert 0,00613 km to mm

8. Convert 108,2 mm to cm

9. Convert 5.922.000 mm to m

10. Convert 0,0455km to mm
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Converting Between mm, cm, m, and km (D) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
2] Q : E — o e
5 b s 5 81 ig £ Z 3 z
"Bh S % = <! 1w 3 8 £ =
-— < : i : : —» X
G M k h da, *d ¢ m 2 n
9 8 7 6 5 4 3 2 1 E -1 2 3 4 5 6 -7 -8 -9
1. Convert 1.416.000 m to km

10.

1.416.000m = 10 +- 10 +- 10 = 1416 km

Convert 6190 cm to m

6190cm - 10+-10=61,9m

Convert 163 cm to mm

163cm X 10 = 1630 mm

Convert 0,312 m to mm

0,312m x 10 x 10 x 10 = 312 mm

Convert 877.000 cm to km

877.000cm +-10+10+10+10+10=8,77km
Convert 2,6 m to cm

2,6mx 10X 10 = 260cm

Convert 0,00613 km to mm

0,00613km X 10 X 10 X 10 X 10 X 10 X 10 = 6130 mm
Convert 108,2 mm to cm

108,2mm + 10 = 10,82 cm

Convert 5.922.000 mm to m

5.922.000mm =+ 10+ 10+ 10 = 5922 m

Convert 0,0455 km to mm

0,0455km X 10 X 10 X 10 X 10 X 10 X 10 = 45.500 mm
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Converting Between mm, cm, m, and km (E)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

+ < = i = > X
G M k h dai 'd ¢ m 2 n
9876543215_?":-1-2-345-6789

1. Convert 0,104 km to cm

2. Convert 370 mm to m

3. Convert 790.000.000 mm to km

4. Convert 0,037 m to cm

5. Convert 0,08865 km to mm

6. Convert 250 mm to m

7. Convert 1,373 cm to mm

8. Convert 5,93 m to cm

9. Convert 541.500 mm to cm

10. Convert 5.200.000 m to km
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Converting Between mm, cm, m, and km (E) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

B_a_s_e
2] Q : E — o e
s iy S 5 81 13 £ 2 3 z
"Bh S % = <! 1w 3 8 £ =
-— <4 : i : : —» X
G M k h da, *d ¢ m 3 n
9 8 7 6 5 4 3 2 1 E -1 -2 3 4 -5 -6 -7 -8 -9
1. Convert 0,104 km to cm

10.

0,104km X 10 X 10 X 10 X 10 X 10 = 10.400 cm
Convert 370 mm to m

370mm =10 +-10+-10=0,37m

Convert 790.000.000 mm to km

790.000.000 mm + 10 =10+ 10 =10 - 10 = 10 = 790 km
Convert 0,037 m to cm

0,037mx10x 10 = 3,7cm

Convert 0,08865 km to mm

0,08865km X 10 X 10 X 10 X 10 X 10 X 10 = 88.650 mm
Convert 250 mm to m

250mm +-10+10+10=0,25m

Convert 1,373 cm to mm

1,373¢cm X 10 = 13,73 mm

Convert 5,93 m to cm

5,93m X 10 X 10 = 593 cm

Convert 541.500 mm to cm

541.500 mm =+ 10 = 54.150 cm

Convert 5.200.000 m to km

5.200.000m = 10 =10 + 10 = 5200 km
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Converting Between mm, cm, m, and km (F)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
+ < = o = > X
G M k h dai :d ¢ m W n
9876543215_?":-1-2-345-6789
1. Convert 0,09151 km to mm
2. Convert 0,0000533 km to mm
3. Convert 0,75 km to m
4. Convert 84 mm to cm
5. Convert 884.000 cm to m
6. Convert 42.530.000.000 cm to km
7. Convert 0,00041 m to mm
8. Convert 0,074 cm to mm
9. Convert 310.000 cm to m
10. Convert 49.650 mm to m
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Converting Between mm, cm, m, and km (F) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

B_a_s_e
2] Q : E — o e
s iy S 5 81 13 £ 2 3 z
"Bh S % = <! 1w 3 8 £ =
-— <4 : i : : —» X
G M k h da, *d ¢ m 3 n
9 8 7 6 5 4 3 2 1 E -1 -2 3 4 -5 -6 -7 -8 -9
1. Convert 0,09151 km to mm

10.

0,09151km X 10 X 10 X 10 X 10 X 10 X 10 = 91.510 mm
Convert 0,0000533 km to mm

0,0000533km X 10 X 10 X 10 X 10 X 10 X 10 = 53,3 mm
Convert 0,75km tom

0,75km X 10 X 10 X 10 = 750 m

Convert 84 mm to cm

84 mm =~ 10 = 8,4cm

Convert 884.000 cm to m

884.000cm = 10 + 10 = 8840 m

Convert 42.530.000.000 cm to km
42.530.000.000cm =10 +-10 =10 + 10 = 10 = 425.300 km
Convert 0,00041 m to mm

0,00041 m X 10x 10X 10 = 0,41 mm

Convert 0,074 cm to mm

0,074cm X 10 = 0,74 mm

Convert 310.000cm to m

310.000cm = 10 =10 = 3100 m

Convert 49.650 mm to m
49.650 mm = 10+10 + 10 = 49,65m
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Converting Between mm, cm, m, and km (G)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
. ' ~ o
5 % s § gt ig E 2 3 z
"Bh S % & <' s 8 E £ =
- < : — : : > X
G M k h da, *d ¢ m M n
9 8 7 6 5 4 3 2 1:0:i-1 2 -3 4 5 -6 -7 -8 -9

1. Convert 3,79 km to m

2. Convert 0,81 m to cm

3. Convert 5.936.000 mm to m

4. Convert 0,85 cm to mm

5. Convert 76.000.000 mm to km

6. Convert 426.500.000 mm to km

7. Convert 460 cm to mm

8. Convert 57.800 mm to m

9. Convert 8.700.000 cm to km

10. Convert 0,0659 m to cm
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Converting Between mm, cm, m, and km (G) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

B_a_s_e
2] Q : E — o e
s iy S 5 81 13 £ 2 3 z
"Bh S % = <! 1w 3 8 £ =
-— <4 : i : : —» X
G M k h da: *d ¢ m [ n
9 8 7 6 5 4 3 2 1 E -1 -2 3 4 -5 -6 -7 -8 -9
1. Convert 3,79 km to m

10.

3,79km X 10 X 10 X 10 = 3790 m

Convert 0,81 m to cm

0,81m X 10X 10 =81 cm

Convert 5.936.000 mm to m

5.936.000mm = 10 =10 + 10 = 5936 m

Convert 0,85 cm to mm

0,85cm X 10 = 8,5 mm

Convert 76.000.000 mm to km

76.000.000mm = 10+10+10+10+10+10 = 76 km
Convert 426.500.000 mm to km

426.500.000mm + 10 =+ 10+ 10 = 10 = 10 = 10 = 426,5km
Convert 460 cm to mm

460 cm X 10 = 4600 mm

. Convert 57.800 mm to m

57.800mm =10 +-10+10 =57,8m

Convert 8.700.000 cm to km

8.700.000cm +-10+10+10+10+10 = 87km
Convert 0,0659 m to cm

0,0659m X 10 X 10 = 6,59 cm
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Converting Between mm, cm, m, and km (H)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

B_a_s_e
' o e o
5 5 s § g ig EE 5 2
Bo g 2 2 9 15 8 E g g
-— <4 : i : —» X
G M k h da: *'d ¢ m 2 n
9 8 7 6 5 4 3 2 1:0:i-1 2 -3 4 5 -6 -7 -8 -9
1. Convert 70,3 m to cm
2. Convert 64.000 mm to cm

10.

Convert 7.200.000.000 mm to km

Convert 9,3 cm to mm

Convert 0,078 km to m

Convert 580.000 mm to m

Convert 5,138 m to mm

Convert 5.112.000 cm to m

Convert 0,932 km to cm

Convert 772.000.000 mm to km
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Converting Between mm, cm, m, and km (H) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

B_a_s_e
2] Q : E — o e
s & S 5 81 13 £ 2 S z
"Bh S % = <! 1w 3 8 £ =
-— <4 : i : : —» X
G M k h da, *d ¢ m 2 n
9 8 7 6 5 4 3 2 1 E -1 2 3 4 -5 6 -7 -8 9
1. Convert 70,3 m to cm

10.

70,3m X 10 X 10 = 7030 cm

Convert 64.000 mm to cm

64.000 mm =+ 10 = 6400 cm

Convert 7.200.000.000 mm to km
7.200.000.000mm =10 =10 +10+10 =10 + 10 = 7200 km
Convert 9,3 cm to mm

9,3cm X 10 = 93 mm

Convert 0,078 km to m

0,078 km X 10 X 10 X 10 = 78 m
Convert 580.000 mm to m
580.000mm =+ 10 +-10 + 10 = 580 m
Convert 5,138 m to mm

5,138m X 10 X 10 X 10 = 5138 mm

. Convert 5.112.000 cm to m

5.112.000cm = 10+ 10 = 51.120m

Convert 0,932 km to cm

0,932km X 10 X 10 X 10 X 10 X 10 = 93.200 cm

Convert 772.000.000 mm to km

772.000.000mm +-10+10+10+10+ 10+ 10 = 772km
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Converting Between mm, cm, m, and km (I)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

= < ; i : : > X
G M k h dai 'd ¢ m 2 n
9876543215-?“:—1-2—345—6789

1. Convert 0,2847 km to mm

2. Convert 0,82 km to m

3. Convert 1700 cm to m

4. Convert 0,00005336 km to mm

5. Convert 8,3m to cm

6. Convert 4990 mm to m

7. Convert 60.100.000 mm to m

8. Convert 42.700 mm to cm

9. Convert 7587 cm to mm

10. Convert 82.000 cm to km
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Converting Between mm, cm, m, and km (I) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

B_a_s_e
2] Q : E — o e
s iy S 5 81 13 £ 2 3 z
"Bh S % = <! 1w 3 8 £ =
-— < : — : : —» X
G M k h da. :d ¢ m 3 n
9 8 7 6 5 4 3 2 1 E -1 2 3 4 -5 6 -7 -8 9
1. Convert 0,2847 km to mm

10.

0,2847km X 10 X 10 X 10 X 10 X 10 X 10 = 284.700 mm
Convert 0,82km tom

0,82km X 10 X 10 X 10 = 820 m

Convert 1700 cm to m

1700cm - 10+-10=17m

Convert 0,00005336 km to mm

0,00005336km X 10 X 10 X 10 X 10 X 10 X 10 = 53,36 mm
Convert 8,3m to cm

8,3m X 10 x 10 = 830cm

Convert 490 mm to m

490mm +-10+-10+10=0,49m

Convert 60.100.000 mm to m

60.100.000mm = 10+ 10+ 10 = 60.100 m

Convert 42.700 mm to cm

42.700mm <+ 10 = 4270 cm

Convert 7587 cm to mm

7587 cm X 10 = 75.870 mm

Convert 82.000 cm to km
82.000cm+-10+-10+-10=10-+10 = 0,82 km
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Converting Between mm, cm, m, and km (J)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
~ < i T ' ' > X
G M k h dai :d ¢ m W n
9876543215_?“:-1-2-345-6789
1. Convert 160 cm to m
2. Convert 220.300 mm to m
3. Convert 840.000.000 cm to km
4. Convert 9,585 m to mm
5. Convert 9,8 cm to mm
6. Convert 0,646 m to cm
7. Convert 567.300.000.000 mm to km
8. Convert 0,00000832 km to mm
9. Convert 328 mm to cm
10. Convert 0,02097 km to m
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Converting Between mm, cm, m, and km (J) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

B_a_s_e
2] Q : E — o e
5 oy S 5 81 13 £ 2 5 z
"Bh S % = <! 1w 3 8 £ =
— <4 : : : — — : : —p» X
G M k h da, *d ¢ m 3 n
9 8 7 6 5 4 3 2 1 E -1 2 -3 4 -5 -6 -7 -8 -9
1. Convert 160cm to m

10.

160cm+-10+-10=1,6m

Convert 220.300 mm to m

220.300mm =+ 10+ 10 =10 = 220,3m

Convert 840.000.000 cm to km

840.000.000cm - 10 +-10+10+10 =10 = 8400 km
Convert 9,585 m to mm

9,585m X 10 X 10 X 10 = 9585 mm

Convert 9,8 cm to mm

9,8cm X 10 = 98 mm

Convert 0,646 m to cm

0,646 m X 10 X 10 = 64,6 cm

Convert 567.300.000.000 mm to km
567.300.000.000 mm =+ 10 - 10+ 10+ 10 + 10 = 10 = 567.300 km
Convert 0,00000832 km to mm

0,00000832km X 10 X 10 X 10 X 10 X 10 X 10 = 8,32 mm
Convert 328 mm to cm

328mm =+ 10 = 32,8cm

Convert 0,02097 km to m

0,02097 km X 10 X 10 X 10 = 20,97 m
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